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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) udieneli FEuAH 31U U9 U W AHTE A o

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) |t uvA A e g
All the questions are compulsory.
3) U U 1 IW & T3 IR-YKaeht | & ferd|

Write the answer to each question in the given answer-book only.

T | ey
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4) R gt ® staites @ug §, 37 |t o SR ues W g fore |

For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) U9 U & < 9 SISt wuraron | foRet weer 3 / o / fermenama g R = v
*F T R & wE wH|

If there is any error / difference / contradiction in the Hindi & English

versions of the question paper, the question of the Hindi version should be
treated valid.
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©vus - A
SECTION - A
1) wgfoshedt 9 :

Multiple Choice Questions:

) Fre d @ s T TR - e Teenatt % sifom el § el T8 2 - [1]
) MW UE YA Er q) SAUR @Il
|9) AE-=F rdn g) qEw
Which one of the following is not included in final Accounts of non-profit
organisations:-

A) Receipt and Payment A/c B) TradingA/c
C) Incomeand ExpenditureA/c D) Baance Sheet

i) YN Uk wH U WEER 2, 98 Yo fourd & urw X 5,000 ufd Siferes stmgwor st 2
JATEOT R ST 1290 =ffer S A SRR A1 2, 01 W A1 bl st grt- [ 1]
3) 6lur q) 41LTE
|w) 6w 3) [Ww
Asnaisapartner inafirm. Shewithdrew % 5,000 each quarterly at the beginning

of each quarter. Interest on drawing charged @ 12% per annum. The period
for interest on drawing will be :-

A) 6% months B) 4% months
C) 6 months D) 7¥%2months

iii) e 3t T w W W 4Y5 ;5% siguTa # o ated g weiEn 2, I sew W
EeR & B9 4 waw fom| wufoss § e =0 enw-gifR suE 7:11:2 gem @ @&

ST I FrT— [1]
1) 9:11 g) 2:0:2
|) 7:11 ) 11:3

Kavitaand Mamtaare partnersin afirm sharing profit in theratio of 4% : 5Y%-.
They admitted Akshitaasanew partner. The new profit and loss sharing ratio
will be7:11:2 infuture. What will bethe sacrificing ratio:-

A) 9:11 B) 2:00R2
C) 7:11 D) 11:3
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iV) e (it o) srquTa foee fefa © s foRen e 2- [1]
) UEER % ATRPI UL HA WM &)  HZER & T W
¥) HEER & TEv W 3) (F)a @)

Gaining Ratio iscalculated in the conditions
A) OnRetirement of apartner B) On Death of apartner
C) OnAdmissionof apartner D) Both(A) and (B)

V) wH % forged W gad ST o AN i FEiaRg Sl - [1]
) WIEER % USh @ o F) Uhs @A H
d) HEiER % W/ @™ § g) oEe @
On the dissolution of the firm, the provision for bad-debts will be transferred
A) InPartners Capital A/c B) InCashAlc
C) InPartnersLoanAlc D) InRedlisationAl/c

Vi) U Safeh arel et | stferman anfier aitda amerd g @ - [1]
HA) T2 9) T 50@m@
) Ile@ 3) Ibvm@

What is the maximum annual average turnover in aone person company:-

A) X 2Crore B) X 50Lakhs
C) 1llLakh D) X 5Lakhs
Vii) 3Tafem @ STuTE |, SRS W U ST ht 3Ateehan &t 10% g Wehdt 8, % IgER-[1]
) Aot — TH &) et - 3
H) A — 0= 3) oAt — St

In the absence of article of association the maximum rate of interest on calls-
in-Arrear will be 10% per annum, according to :-

A) Table-F B) Table-E
C) Table-H D) Table-G
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viii) FrarvreRt St afagfd @ giERoT @ y s & ATt /U A R S E- [1]
) WftEm w ) TLRW
w) fafe == R®w 3) W-TE W

From the view of Investor's compensation, zero cupon rate debentures are
Issued :-

A) AT - Premium B) AT - Discount
C) AT specificinterest rate D) AT - Par
iX) RO % YieH W SiftEm Wi 1 9N gEaia R St - [1]
1) wuE & i w g @
F)  HUTGH o IMEH W @ |
) HUMH o R R See @ §
g) RUTGHI o JNEH W &gel @ |
The balance of premium on redemption of debenture Account istransferred:-
A) InLosson issue of debenturesA/c
B) In Loss on redemption of debentures A/c
C) Indiscount on issue of debenturesAlc

D) Indiscount on redemption of debenturesA/c
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X) fr= oo s ae dum a anfie” Susiide @ watta T8 2 - [1]
) YSIT e w9 F) OISR WA FEE
|) wfayfd - diffem 3)  gEa WOl o forg s
Which of the following item is not related to "Reserve and surplus’ sub-
Head:-

A) Capital redemptionreserve  B) Debentureredemption reserve

C) Securitiespremium D) Provision for bad-debts
Xi) e yeR & fafa-faaton fayerwo @i Sfes-favetwor” g wman 22 [1]
) U faverwoT a)  vafu-fevemm
) g TR g) wwey - faeRm
Which type of Financial Statement Analysisis also known as "Horizontal -
Anaysis':-
A) Ratio-Anaysis B) Trend-Anaysis
C) Comparative-Anaysis D) Common - Size Statement

Xii) =fe ad & M X 75,000 g o safcta foren e qen ad % uRw 9 o U why i
a9 seww: 15,000 & *1,00,000 2, @t uftenes fsranatt grt Teng wang <kt afvr grft-
[1]
#) 10,000 =)  ¥(10,000)
@)  21,60,000 a)  %(1,60,000)

If the net profit earned during the year isX 75,000 and stock in the beginning
and at the end of year is 315,000 and ¥1,00,000 respectively, then the cash
flow from operating activitieswill be -

A) 10,000 B) (10,000)
C) <1,60,000 D) 3(1,60,000)

SS-30-Accountancy 3021



2)  fam vt 1 o i

Fill intheblanks:

) I T PR W e, T& AW ? (Vehg /3@ fa) [1]
Receipt and payment Account is the summary of book.
(Cash/BillsPayable)

i) TEER % AA G, .o git {fd & siaria @it s 21 (FoR /uftad=eter) [1]
Partners current accounts are opened under capital method.
(Fixed/ Fluctuating)

iii) o % AT % EwE, g A R - ATHTRaa SR S YA U HEER gR S W,
...................... T 2fere (Am) foren SR (Yo /aget) [1]
At the time of dissolution of firm, unrecorded liabilities paid by a partner, is
debited in A/c. (Revaluation/ Realisation)

iV) U Ot o foTe SHUTUS UR eRman T S SHE W e, 21 (wvr/3m)[ 1]
Interest paid on debenture is on profit for a company.

(Charge/ Income)
1Y) I Tgt @ fuem 12 urg i srafir & e fomen s 21 (R—=me /=) [1]

itemsto be settled within 12 months period. (non-current / current)

Vi) UTH ST @ ATHIY i T 3T o WA W o feranati i wifd afisha
foren <t 21 (Fraw /afem) [1]
Interest and dividend received is classified as activities in the case

of Financial enterprises. (Investing / Operating)
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3) afoergaeTs T ¢
Very short answer type questions :

) a Fora o e | aH et 55,000; a a4 "emrEn =gt 15,000 o sE-sa T °
=g <t Y fearam) [1]

Subscription received in current year ¥55,000 by Bharat club; out standing
subscription of last year is%5,000. Write down the amount of subscriptionin
Income and Expenditure A/c.

i) TTHEN doRa & IWTE U WIZER % USH W S & o @ yrae g e [1]

In the absense of partnership-deed, what aretherules (provisions) for interest
on partner's capital ?

iii) i, e of Ffew 3V2 1 4Y%: 526 ow dtedt get |gier 71 it wH | st
TEUT A B, IR < T e gy [1]

Garima, Priyanka and Nimisha are partners sharing profit in the ratio of
3Y2: 4Y4: 5%, Nimisharetires from the firm. New share of Garimawill be?

V) HSIER i 9eg o THE $AA /UM o AN | HHl & oI @/ ufars geit e [1]

What will be the entry for reduction in the provision for bad-debts at the time
of death of a partner?

V) Wi % HHUE W, U G@EER gR W A T o W, 1 SHA gty gef e [1]

At the time of dissolution of firm, the goodwill of the firm istaken over by a
partner, what will bethejournal entry?

Vi) YaifeeRRr 319t o fRedl gt Wit & Am feifem) [1]

Write the name of any two types of preference shares.

SS-30-Accountancy 3021



Vii) e sRUTeR @ 2 [1]
What isaBearer debenture?

viii) o=t feafirez & 1000 wwan 39 o fote stmaie u= stmta feke| 980 simegH o=t W gul
fEM F THR F AW T [1]

Ra Ltd. invited application for 1000 Equity shares. 980 applications were
received. State the name of type of subscription.

iX) Eguw feafes 3 s fafee & % 2,00,000 gea 6t wvia Tl S gmam
32,000 <rsh & g1 a2t 3w A o ferw 100 amet 8% wotam 10% siee R =it foru)
w1 T TTE TS e A R [1]

Riturg Ltd. purchased a machine worth X 2,00,000 from Yashpal Ltd. The
payment was made by cheque of ¥2,000 and for remaining amount 8%
debenture of ¥100 each were issued at 10% discount. Calculate the number
of debentures that were issued.

X) Tt faero favemo $i sa aeie = am fafae, Kt “aftem faeror” & sa 4 @
ST 82 [1]
Write the name of technique of Financial statement analysis, which is also
known as 'percentile statement'?

Xi) kg gedleh 1 27 [1]
What are cash equivaents?

Xii) e fafies w1 yg oW, T weE | 15,000 g s o uverd 75,000 B,
er e &t ferhl weenw 10,0002, @ aferrer frenatt gra T warg wa it |[ 1]

Bhavesh Ltd. made a net profit 75,000 after atransfer to general Reserve of
X15,000 and gain on sale of machinery is 310,000, then calculate the cash
flow from operating activities.

SS-30-Accountancy 3021 [ Turn Over
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oug - d
SECTION - B
TYTIHS T
Short answer type questions :
4) T HGt i AR FAE H F—TF Wl qen Jo-u= 1 feriau- [2]

T % < 5,00,000
Tet w = X 4,90,000
fFafereen @wa wiw T 10,00,000
Faferean % w == 310,20,000

Write the following items in Income and Expenditure A/c and Balance Sheet of
Sanwer club :-

Tournament Fund X 5,00,000
Expenses on Tournament X 4,90,000
Medical Camp Fund % 10,00,000
Expenses on Medical camp %10,20,000

5) <iat 3R foaneh U wH § 4: 1 H @1 Siedt gt WEiEr ¢l 3Rt FRr e swAwn: X 3,00,000 3R
T 2,00,000 eft| wrgier Fe@ # 9% anfieh ot @ A a4 <l UTEUH g, a1 &H a9 & Sl
% 35,000 &t g1t siivta et 31 enw—gi fafam (Faem) @ dam iR [2]
Chandaand Diyanshi are partners sharing profitsintheratio of 4:1inafirm. Their
Fixed capital wereX 3,00,000 and X 2,00,000 respectively. Partnership deed provide

interest on capital @ 9% per-annum and firm incurred Loss of X 35,000 during the
year. Prepare profit and Loss Appropriation A/c.

SS-30-Accountancy 3021
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6) @i iR Gl Tk wH A 1:3 § @I dtedt gl |IBER g, 3Rt TR gu wav: 370,000 7
¥1,30,000 oft| ® wwferen =t wfoss o enedt ® V4 e & foru waw ot 21 ot ooft & wu
70,000 =t 21 wieran & fm & foru wenfa o g it o il [2]
Sangeetaand Sumitraare partnersin afirm sharing profitsintheratio of 1:3. Their
fixed capital were 70,000 and X1,30,000 respectively. They admitted to Kavitaas
a new partner for % share in the future profits. Kavita bought 370,000 as her
capital. Calculate the sharein goodwill for Kavita.

7) TY, Fdg R AHIEI Uk FH § ASiER 21 1 e, 2022 i g TH | TR TE0T hidl
2, et fafer =1 sek geht @ = s 9w X 3,00,000 21 35eht =k afvr 10% anfies X & 3
U g~k (ohydl § ST Higd YA ok TgATd gait| T2 TG o 37d § I6eh! Jehrs T
ATt A A i) [2]
Madhu, Fateh and Omprakash are partnersin afirm. On 1st January, 2022 Fateh
retired from the firm. On that date the credit balance of hisaccount is X 3,00,000.
It isagreed to pay hisdue amount in two equal Half-Yearly installmentswith interest

@ 10% per annum. Calculate the amount payable to him at the end of first Half-
year.

8) o, TA 3R TH U WH H 3:5:2 § AW Fied gC WEER gl 31w, 2022 wi wH H A
< 4,00,000 2| wa i 1 atargsr, 2022 i 9eg @ T w1 enie, | 1 areRERr, 2022
qe oWl # fee T i) [2]
K, L and M are partnersin afirm sharing profitsin theratio of 3:5:2. The profit of

the firm is X 4,00,000 on 31 March, 2022. M died on 1st October. Calculate the
sharein profit for "M" from 1st April upto 1% October, 2022.
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9)

10)

11)

12)

13)

12
Teh QUHT TEUIEER i [USe ofen o § stufeiReaa foran < e 2, U |igigR 7o gl 39
315,000 foram e dAmren # e ufate dfme, afe @ = fomem @ g 21 [2]
An old typewriter was written - off in the books of accountsin previous year. The
same has been taken by a partner Mayank for 15,000. Journalise the transaction,
If firm has been dissolved.

Zha feafee ® wfiw 3 1500 sivn W X 4 g 3191 it R @ 3= fofer 9 2 #g yd ywam o e
I <l JEaehl H hrol tfufEm R SRl - U % AR s S O 7 ik [2]
Manish paid X 4 per share on 1500 shares in advance to Hemant Ltd., 2 months
before due date. Calculateinterest in the books of company according to companies
Act asper Table - F.

= =t aftenfya A - [2]
) orfgm o=

i) iR wUTOR

Definethefollowing:-

I)  Unsecured Debenture

i)  Registered debenture

TeTER ferfies = weres 3100 amet @i o 800 swutast shi 398 Ut Ko i X € got IR |
T ek T W 2| F B gEaent ® savaes SHe gfafyEt di [2]
Rajveer Ltd. purchased 800 own debentures of 100 each from the open market
for cancellation at 98 per debenture pass the necessary journal Entries in the
books of the company.

g feifwes st avetan siguTa & o] argum e 3.6: 1 4.8:1 21 whe @t uifer X 60,000 21
T fif: - [2]
) e ettt

i) = gl

Suman Ltd's Liquidity Ratio and Current Ratio are 3.6:1 and 4.8:1 respectively.
stock for ¥ 60,000. Calculate :-

1)  Current Assets

i)  Current Liagbilities

SS-30-Accountancy 3021
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14) Ir fafire At F gamet | ek et & gid fie: -
ToTTH 3 — feraut v

e /e () ufitEda | Youfera
4. 2022 2023 (%)

A) TEER A 3= - 14,00,000 | ....... 1,00,000 | ..........
B) ==:-

Tt A - 12,80,000 {350,000 | .oeeo | e
C) WA Yd ™ - 11,20,000 |1,50,000 30,000 25.00
Fill in the blanks, from the following details of Sher Ltd. :-

Comparative Income Statement
ltems Note Amounts (%) Change | %change
No. 2022 2023 (*)

A) Incomefrom operation| - | 4,00,000 | ....... 1,00,000| ..........
B) Expenses:-

Purchase of Material - | 280,000 | 350,000 .ccooerr | aeeeennn
C) PBT - | 1,20,000 | 1,50,000| 30,000 | 25.00

15) f= gaamt forfia forfee @ wafem 2- [2]

e 1.4.2021 31.3.2022
FUF & foru graum (%)45,000 (%)50,000

T4 o A HALUH & TrEeE 290,000 R | ufenem st g tene afdae
e 7 it
Following informationsarerelated to Vineet Ltd. :-
ltems 1.4.2021 31.3.2022
Provision for Taxation (3)45,000 (3)50,000

During theyear provision for Taxation is made of 90,000. Cal cul ate the amount
for cash out flow from operating activities.

16) it fafiree 3 F=faRaa s wem @i 2- [2]
e 1.4.2021 31.3.2022
wiie @ (%)25,000 (%)30,000

T4 & SRA Tk e e gea 312,500 o e o w wfea g@ 17,500 8, =
26,500 #® sr=n | “Fraw fraett” grt ek weg <Rt U Shifs|
Shoiyal Ltd. hasgiven you thefollowing informations:-
31.3.2022
(3)30,000

During the year, a plant costing 12,500 with Accumulated depreciation of
X7,500wassold for 6,500. Calculatethe cash flow from the " Investing-Activities'.

[tems
PlantAlc

1.4.2021
(%)25,000

SS-30-Accountancy
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wue -9
SECTION - C

17) 75 3 fIr ueh o 1 4:3 7 oW sfied gUAEER 31 32 1 319e, 2022 =it ferfig it et | ¥4
& ford 7 wrgieR & u o waw foum =i fafr =it gom o= wm v 384,000 3 e
7t T 35,000 (A1) 9 39Tt @1 2, T R graehl § ATEiER 3 A 3 w6, 9 ded |
M-I T@d & T 99 i AufciRaa e S gfafsat i) [3]
Nandu and Shiv are partners in a firm sharing profit in the Ratio of 4:3. They
admitted to Vinod as a new partner for ¥a share in profits on 1st April, 2022. The
bal ance sheet showed a balance of General Reserve ¥84,000 and Debit balance of
Profit and Loss ¥35,000 on this date. Pass the journal Entries in the book of firm,
to write-off General Reserve and debit balance of profit and lossA/c., at thetime
of Admission of a partner.

18) @, HiTer 3R gU T W § 4:3:2 § oW sied g AIEER 2| Wil H W STEehiel TgUT <R 8l
YR, ST q1 diaa T1Hl § (e At THESE o Uy 9 9 J9 % et @t o
< 9w sk *1,08,000 & 72,000 21 =g fAufa foren mmen for dim & 9o % goit @ e e -
T YT % HFTAR AU foru ST, Agieri gRT Aehs @18 a1 o S At it e R

[3]
Som, Mangal and Budh are partners in afirm sharing profit in the ratio of 4:3:2.
Mangal Retiresfrom thefirm. After making all adjustmentsrelating to Revaluation,
goodwill and accumulated profit etc. the capital accounts of Som and Budh showed
the credit balance of ¥1,08,000 and X72,000 respectively. It was decided to Adjust
the capitals of Som and Budh'sin their new profit sharing ratio. Calculate the cash
to be bought on to be paid off by partners.

19) T it Amen ufafsat Sifcu-
) U wuHs X 95 W Friu feran wen, R 3105 wegm (weF) grml
i) ue muTgE w1 110 W et fman e, Rmest 100 W wnem (HieF) gl
U <kt 3ifeRd gear 100 e [3]
Journaisethefollowing:-
1) A debentureissued at X 95; repayable at T105.
i) A debentureissued at ¥110; repayable at X100.
The face value of debentureisX100.

SS-30-Accountancy 3021
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21)

15
T fertwes w1 swo1 — wmen sigura 0.8:1 2, F # § fohe®l 5ot — |wan 92w, a1 suiatda
R e - 3]

) EHa 319 o SAfah FHa W)
i) e 39 % e W

i) soTE % weR W

iV) WIS & TRe T W

Thedebt-equity Ratio of Sonu Ltd.is0.8:1. Which of thefollowing wouldincrease,
decrease or remain unchanged (the debt - Equity Ratio), Explain:-

I)  Further issue of equity shares.
i)  Issues of Bonus shares.

i)  Redemption of debentures.
Ilv) Sale of goods on cash basis.

@ ug - §
SECTION - D

HSia 3R A T W | 3.7 9 @1 died U HWEER ¢, 31 A, 2022 i 3eh e fagst

e 2- [4]
DG R | wwfwt 3
7 foe 4,00,000 | Trwg 3,60,000
g 3,00,000 | @er 4,60,000
it T - (—)g=a =
wsfia - 5,00,000 gmaeH 20,000
W -4.00,000 [ 9,00,000 4,40,000
A 8,00,000
16,00,000 16,00,000
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a 1 e, 2022 st g ht T il o T T od -

16

) et ot gelt o ferm 33,00,000 ek @@ 21

i) T 3R o §)

iii) S T @ geare 40,000 W TR e K Tge G T@ @ gl
iv) & wfersa ® e st 3:4:3 § |ied w1 i o 21
“gaieaTeR @Al 9 “TTSERT % USit @’ S8

Sanjeev and Bhanu are partnersin a Firm sharing profit in the ratio of 3:7. Their
Balance - sheet as at 31 March, 2022 was as follows:-

Liabilities X | Assets %
Bill Payable 4,00,000 |Cash 3,60,000
Reserve 3,00,000 | Debtors: 4,60,000
Capital A/C's:- (-)Provision for
Sanjeev -5,00,000 bad-debts
Bhanu - 4,00,000 20,000
9,00,000 4,40,000
Machinery 8,00,000
16,00,000 16,00,000

Other - Informations:-
On 1st April, 2022 they admitted "Rahul™ on the following terms:-

1)  Rahul will bring ¥3,00,000 for hiscapital in cash.

i)  All debtors are good.

i)  The goodwill of the firm was valued at 340,000, Rahul does not bring any
cash for this.

Iv) They decided sharing profit in theratio of 3:4:3infuture.

Prepare "Revaluation A/c" and "Partners CapitalsA/c".

SS-30-Accountancy
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0, ¥ 3R R T W | 2:1:1 | oW died ¢ AEER g, 31 A, 2022 i 3w faest

(qE-U=) 39 TR B:-

I D[ | T | wwtaEt %
SR 3,00,000 | e 1,80,000
w 1,50,000 | wr fwm | 1,20,000
gsht whY 3,50,000
i - 3,00,000 wie 5,50,000
7 - 2,40,000
3w - 210,000
7,50,000
12,00,000 12,00,000

g fula = @, f6 1 3w, 2022 @ ot ot oW ser - SR 3| 39 oty o e
Tnfa @ gearera ¥90,000 W foran e i gEaeht @ “Oreieri % US @ 39 A

P, Q and R are partnersin afirm profit sharing in theratio of 2:1:1. Their Balance
sheet as at 31st March, 2022 was as follows:-

Ligbilities % Assets %
Creditors 3,00,000 Cash 1,80,000
General Reserve 1,50,0000 B/R 1,20,000
Capitals: Stock 3,50,000
P - 3,00,000 Plant 5,50,000
Q - 2,40,000
R - 2,10,000
7,50,000
12,00,000 12,00,000

They decided to share the profits equally w.e.f. April 1st, 2022. On this date, the
goodwill of firm was valued at ¥90,000. Prepare the "Partners Capital A/c" in the

books of firm.

SS-30-Accountancy
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22) wwisht faftee 3 2500 wwar arwr 10 ufa siwr (9 uift 718) ot awreie wivr X 5 ufd 191 <
WIAH T HA & HROT Sea (FHo1) feran| 37 & 2000 wwen i féran w0 IS5 wfa sim P w @
X8 ufd 3191 wew " U YAFIHG o fadr| Sheaet < geaehl H STiTh e Satteal Siferg a
SO T S| [4]
Rajshree Ltd. forfeited 2500 equity shares of 310 each (X9 called-up) for non-
payment of the allotment money of X 5 per share. Of these 2000 equity share were

re-issued to Smitaat X5 per shareas 8 called - up. Journalisethe abovetransactions
in the books of company and make " Share-forfeiture” A/c.

Far/OR
et feafiree 3 40,000 wwar 2t < foru smeeq - w=t emifm foru fem sifera gear 10 ufa
AW 3, aivEt e R | 3T 2 -
e W 5 ufd 3w
e W 34 ufd 3w
wow & 3ifow 7 w X1 ufa st
60,000 &t 3wt @ fore smaen vt W ge, ag ot fomn -
) 10,000 smargehi st 3TteieA | WA o feam|
i) 30,000 sagehi i qui Seiea Tz T
jii)  vIw ARl i AU — s wR e |
e W U™ ufvn it o fifkro)

Arti Limited invited applications for 40,000 equity shares of X 10 each, Amounts
payable are asfollows:-

On Application X5 per share

OnAllotment X4 per share

Onfirst and final call X1 per share

Application for 60,000 shares were received. It was decided:-
I)  Torefuse allotment to the applicants for 10,000 shares.
i)  Toallotinfull to applicants for 30,000 shares.

i)  Toadlotin pro-rataamong the remaining applicants:-

Calculate the Amount to be received on allotment.
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23) ﬁm%ﬁ%@ﬁtﬁ%ﬁé@ﬁ%1,98,0001?§m=ﬁm@ﬂ'q'nﬁaﬁamuﬁw%aaﬁﬂoo
et 9% HuTaEt @ e vt W e W wgaf sH- [4]
) @R 10% e w
i) =R 10% wiftrm @
NMEYIh el TATSAT ITeT0| qe Tedieh uRfefa ® St sBorosi <t s saren|

KanhaiyaLtd. purchased furniture of ¥ 1,98,000 from Ravi Ltd. It was agreed that
purchase consideration isto be paid by issuing 9% Debentures of X 100 each with
following conditions:-

1) If AT discount of 10%.
i) If AT premium of 10%.

Record necessary journal entries and state the number of debentures that were
Issued in each case:-

Frar/OR

T ferfree 3 2000; 8% swuta= 1 a9, 2022 st X 100 amet Frifa fore, St Tk 4 o uv=ma
e @ 10% Hftem w tewgya vieHE 31 SHUeE vien HeE @ 6 9 314,000 Suersd 2
FWH R el B WA % T S S gl difie, afe g fafiee IR aem %
AT ‘3 TR H )

Ranu Ltd. issued 2000; 8% debentures of ¥ 100 each on 1st April, 2022, which are
redeemable in lump sum after 4 years at a premium of 10% out of profits. The
balance of Debenture Redemption Reserveis available for ¥14,000. Give journal
entries at the time of redemption in the books of company, If Ranu Ltd. isa"other
unlisted" company except share market.
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